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Al 00DOODOOODOODOOOODOODOOODOODOOODOODOO

Oo:
file=houjou/for/Tubu-Phonon/saikin2.f

O:
O0000000000D0000D000O0O0display00’000000O00O0°

godoooooon

0000 :en.xyz2 (tube-xyzlf 000)

agoogao:

1.0
goo
oo
2.00
3.0

(I)tubenear(D 000000 n,m chiral angle 000 )
(2)saikn2(0000O0O0OO)
(3)roku3(0000D0O0DOODOO)

goooooooooobooooooon
(000000000 oD0oDoDoDoOOooooooOoO)

00000 (FILE NAME=en.xyz2)
0000 (;saikn2) 0000D0O0O0O0O ; DOOO
0000 Grekuw3) J0ODODDOODDOD ; OODODDODODO

programed by takao takeya
date 95.11.1
00.3.29 modified by R. Saito

00.10.7 modified by T. Houjou
[program start]

a o o o o o o o o o o o o o o o o

implicit real*8(a-h,o-z)

38



OO0 A0DDDODOOOO

parameter (n=4000)
dimension x(n),y(n),z(n),kr(n,3)

dimension ii1(n,4),ic(n,3),iic(n),rr(n,3)

¢ 000O0O0O0OO0DOOO0OD (FILE NAME=en.xyz2)
¢ 00=(x,y,z)0000=nn2 00000000000 =t

open(61,FILE=en.xyz2’ ,status=’01d’)
read(61,*)nn2

read(61,*)t

do 10 i=1,nn2

read(61,%) idum, x(i),y(i),z(i)

10 continue
read(61,*) nn,nm,theta
close(61)
c
c
¢ 0000 Gsaikn2) DOOOOOOO
c

open(60,FILE=’saikn2’,status=’unknown’)
do 20 i=1,nn2

k=1
1i1¢i,1)=1
jic(i)=i

do 30 j=1,nn2
bi=sqrt ((x(j)-x(i))**2+(y () -y (1)) **x2+(2(j) -z (i) ) **2)
c
c 0000000000000 O0OO0O0O (0000 1.5 000)
c
if((b1.gt.0.3d0).and.(b1.1t.1.6d0)) then

k=k+1

1i1(i,K)=j

ic(i,k-1)=1i1(i,k)

rr(i,k-1)=z(j)-z(i)

kr(i,k-1)=0

endif
30 continue
c
c 0000000000000 O0OO0O0O (0000 1.5 000)
c

do 210 j=1,nn2

z2=z(j)+t

b2=sqrt ((x(j)-x(i))**2+(y(j) -y (1)) **2+(22-2(i) ) **2)

if((b2.gt.0.3d0).and.(b2.1t.1.6d0)) then

k=k+1
1i1(i,K)=j

ic(i,k-1)=1i1(i,k)

rr(i,k-1)=z2-z(i)

kr(i,k-1)=1

endif

210 continue

do 220 j=1,nn2

z3=z(j)-t

b3=sqrt ((x(j)-x(i))**2+(y(j) -y (1)) **2+(23-2(i) ) **2)
if((b3.gt.0.3d0).and.(b3.1t.1.6d0)) then
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k=k+1
ii1(i,k)=j
ic(i,k-1)=ii1(i,k)
rr(i,k-1)=z3-z(i)
kr(i,k-1)=-1
endif
220 continue
if(k.ne.4) then
write(*,%)k,’,’,» 000000000
endif
c if(k.ne.4) stop’k.ne.4’
c if(k.ne.4) stop k
write(60,80) k,(ii1(i,1),1=1,k)
80 format (5i5)
20 continue
close(60)
c
c 0000 Groku3) JOOODDOOO ; ODODOOODOOODO
c
open(60,FILE="roku3’ ,status=’unknown’)
do 120 i=1,nn2
k=1
ii1(i,1)=1i
do 130 j=1,nn2
bi=sqrt ((x(j)-x(i))**2+(y(j)-y(i)) #*%2+(z2(j) -z (i) ) #*2)
c
c 0000000000000 O0OO0O0O (0000 1.5 000)
c
if((b1.gt.0.3).and.(b1.1t.1.6)) then
k=k+1
ii1(i,k)=j
goto 130
endif
130 continue
if(k.eq.2) then
ii1(i,3)=0
ii1(i,4)=0
else if(k.eq.3) then
ii1(i,4)=0
endif
write(60,180)(ii1(i,1),1=1,4)
180 format (4i5)
120 continue
close(60)

C sa

open(60,FILE="saikn2-z’ ,status=’unknown’)

do 310 i=1,nn2

write(60,320) iic(i),(ic(i,j),j=1,3),(rr(i,j),j=1,3)
320 format (1i5,3i5,3f10.5)
310 continue

close(60)

open(60,FILE=’tube .near’,status=’unknown’)
write(60,351) t
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351 format (£25.20)

do 330 i=1,nn2

write(60,350) iic(i),(ic(i,j),j=1,3),(kr(i,j),j=1,3)
350 format (1i5,3i5,31i5)
330 continue

write(60,*) nn,nm,theta

close(60)

stop

end
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A2 00D0OO0OOO0ODODOOOOODOOOOODOODOOODOODOOO

ggd:
file= houjou/for/Tube-Phonon /tu-phonon2.f
1.0000oad:
include O : nk-size(0O00000)
(Den.xyz2(0 0000 tube-xyzl.fO0ODO)
(2)t-ch(0 D000 tubexyzl.f0O0OD)
2.000000:
Jtu-phononl.dat(0 00000 0DO)
Jelo(DOODOOD 000DO00DO0DOO0)
Juweva(DOODOODOOD)
Jeeval(DDOODOOD)
Jtasiinvk 00 0000000) (6)kei
Jtensor
nk: 0000 ns: 00000000 npk000000 ndmax: 000000000 (O
Ondmax 00 00)0 ndmax; 00000000007)
O00000nkO0D0O00O00D0O00D0OO0DOOO0DOOOOO0DOO

(1
(2
(3
(4
(5
(7
(

(2]

(2]

————— tube O phonon 0000000 OO0OOOOO =========-=-=C
oo0ooO0o0oo0ooooO0oooobooon

programed by takao takeya

date 96.10.07
97.03.03 modified by R. Saito
00.03.27 modified by R. Saito for running on alpha machine
change the definition of nj and related part
00.10.10 modified by T. Houjou for point defects
nss 00 00000D00D000000000O0000000

00 en.xyz2 (O0OO0O0O tube-xyzl.f)
t-ch (00000 tube-xyzl.f)
nk-size (UOO0OO0O tube-xyzl.f)

00 tu-phononl.dat

nk; 000, ns; 0000000, nj; k OOOOO

ndmax; 000000000 (00O ndmax O0OO0)s

ndmax1; 0000000000 7?(1=<ndmax1=<ndmax)
implicit real*8(a-h,p-z)

a o o o o o o o o o o o o o o0 o o o0 o o o0

implicit complex*16(o)
¢ 0;000;nk 0000 (parameter JO0 00 nk-size OO D)

include ’nk-size’
parameter (nl1=nk*3,n=nl,ne=nl,nv=nl,nj=1,ns=18)

parameter (ndmax=4,ndmax1=4)

logical 1w
complex*16 oD,V
dimension oD(n1,n),V(ni,n1),vk(nl,n1),ek(n),epo(nl)

dimension x(nk),y(nk),z(nk),ic(nk,ns),rz(nk,ns)
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dimension a(nk,ns,3,3),iken(nk,ns),a2(nk,ns,3,3)
dimension qqq(nk),eee(nk*3,nj+1) ,xx(nk),qka(nk,ns)
dimension w(n1,7),e(nl1),1lw(nl),qkaa(nk,ns),dn(ndmax)
dimension fr(ndmax),fti(ndmax),fto(ndmax) ,nakc(nk,ns)
dimension a3(nk,ns,3,3),a4(nk,ns,3,3),daa(nk,ns)
dimension ar(4),ati(4),ato(4)

c gooooad

dimension nss(nk)

c
nij=nj
pi=atan(1.0d0)#*4.0d0
eps=1.0d-16
c
ppp=6.6890
write(*,*)165%(ppp/6.78)**(-1)
c

c pn: ODOODOOODO
[ cc: OO

pm=12.0d0/(6.02213740)
¢cc=2.9979245840
do i=1,n1
epo(i)=0.0d0
end do

c nss; Ondmax1 00000000 0OOOOO
do i=1,nk
nss(i)=0
end do
[ nss=0
enk=0.0d0
do i=1,ndmax1
if(mod(i,2).eq.1) then
nss(i)=3+nss (i)
else
nss(i)=6+nss (i)
endif
end do
write(*,*%)’ 00000 =’ ,nss

factor(O<factor=<1.0)): k 000000000 OOOOOOOOO
oz
=1.0 T/pi OO
factor = 1.0040

a o o o

(2]

c nn2; OO0

c
open(61,FILE=en.xyz2’ ,status=’01d’)
read(61,*) nn2
if(nk.1t.nn2) stop ’nk.lt.nn2’
read(61,*) t,acc
c
c write(*,*)°> 00000000 C_h = (’, nCh,?,?, mCh ,’)’

if(nn2.ne.nk) stop’nn2.ne.nk=change nk’
do 10 i=1,nn2
read(61,*) idum,x(i),y(i),z(i)
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(2]

a o o o

10 continue
close(61)

aa=1.42d0
if(abs(aa-acc).gt.0.001) stop ’check acc or aa’
ch;IC_hl,t;ITl,qa;A DODOD,A OOOOOOO B 0DODODO
open(61,FILE="t-ch’,status=’0ld’)
read(61,21) t,ch,qa,qb,lo
21 format (5£25.20)
close(61)
0000000000000 subroutine OO OO OODO
call kinsetu(nn2,ndmax,ndmaxl,x,y,z,nk,ns

%,t,ic,rz,iken,ch,qa,qb,qqq,xx,qgka,gkaa,dn,nss ,nakc
& ,daa)

00000000 subroutine(Ematrix) 0O 00

call Kmatrix(nn2,nk,ns,ndmax,ndmaxl,a,a2,t,ch,qa,qgb,
&iken,ic,qqq,rz,x,y,z,qka,qkaa,dn,nss,fr,fti,fto,nakc,a3,as

%,daa,ar,ato,ati)
dkmax: k D000 zone O pi/t
nj: 000 (parameter DO OO0DODOO)

factor: JOUO0O0OOO0OOOOOOOOOOO?

kkk=0
dkmax=pi/t*factor

nj =1 000000C0000O0O0O0O0O0OCOO
00 dk 000 duvmmy OO OOO0OO

dk=1.0d0
if(nij.ne.1) dk=dkmax/float(nj-1)

dk=49.19024d0*1.0
write(*,%*)1.0d0/dk*t/pi
dk=d0
Main do loop: 00O OOOOOOO
do 20 i=1,nj
write(*,*) ’do 20 i,nj =’, i,nj
rt=1.0d0/dk*float (i-1)

k 00000 Dynamical Matrix 0 oDUUUOI0D subroutine(Dmatrix)

write(*,*) ’call Dmatrix’

call Dmatrix(nn2,0D,a,nk,ns,nss,n,nl,rt,rz,ic,a3,a4,a2)

oD DOOOODOO
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cC
cC
cC
cC

cC

cC

30

00000000 subroutine(deigch) 0000
00o0o0oooo ro (i=1) 00D00DO0oDOooOoo

if(i.eq.1) then
nnv=n
else
nnv=0

end if

nnv=n
write(*,*) ’>call deigch nnv=’,nnv

call deigch(oD,n,nl,ne,nnv,eps,w,lu,e,v)

gooooooboooooooo

ekk1=0.0d0
k=0
do 30 j=1,n

if(i.eq.1) then
if(e(j).1t.eps)then

write(x,*) ’e(§)<0 ,i , j = ’,e(§),i,j

epo(j)=abs(e(j))

endif

else

epo(j)=e(j)*0.0d0

endif

endif

k=k+1

continue

do j=1,n
eee(j,i)=sqrt(e(j)+epo(j))/cc/2.0d0/pi*1.0d3
end do

rogooooooooooooonoo

ig=1
if(i.eq.ig) then
do j=1,n
if(j.ne.n) then
ek(j)=eee(j,i)
do jj=1,n
vk(jj,j)=v{ij,i)
end do
else
ek(n)=eee(n-2,1)
ek(n-2)=eee(n,i)
do jk=1,n
vk(jk,n)=v(jk,n-2)
vk(jk,n-2)=v(jk,n)
end do
end if
end do
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(2]

a o o o o o o o0

a o o o

(2]

C

C

C

1

endif

1 continue

k 00 main loop OO

continue

0000000 (k/pi OOO)

open(60,file=’velo’ ,status=’unknown’)
do i=n1-50,n1
write(60,111)1,
&eee(i,nj+1)%cc/0.0001*t*2.0/10d2
11 format(i5,’ ’,f10.5)
end do
close (60)

write(*,*)eee(nl,nj+1)
write(*,*)eee(ni-2,nj+1)

write(*,*)eee(n1-3,nj+1)

write(*,*)eee(nl,nj+1)*cc/0.001*t*2.0
write(*,*)eee(nl-2,nj+1)*cc/0.001*t*2.0
write(*,*)eee(n1-3,nj+1)*cc/0.001*t*2.0

00 file(=tu-phononi.dat) 0000

open(60,file=’tu-phonon9.dat’ ,status=’unknown’)

k1=0
do 40 j=1,nn2*3

j o0 oo

if (mod(j,2).eq.1) then
do 50 i=1,nj
kl=kl+1
rt=dk*float (i-1)*t/pi
write(60,100)rt,eee(j,i)

100 format (£10.5,° ’,f12.5)

50

70

40

continue

j o0 oo

else
do 70 i=nj,1,-1
k1=k1l+1
rt= dk*float(i-1)*t/pi
write(60,100)rt,eee(j,i)
continue
endif

continue
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close(60)
write(*,*)kl

c rog000,000000000 file(tu-eval)

[ for xmol & raman [J

cc kp=0
open(60,file=’tu-eval’,status=’unknown’)
nn=int (nn2*3/8)+1

kpp=0
do jji=1,nn
c if ((jji-1)*8+8.ge .nn2*3)
if(kpp.eq.1) goto 210
if((jji-1)*8+8.ge.nn2*3) then
kpp=kpp+1
write(60,200) (ek(i),i=1+8%(jji-1),nn2*3)
else
write(60,200) (ek(i),i=1+8*(jji-1),8+(jji-1)*8)
endif

write(60,%)7
do i=1,nn2#*3

if((jji-1)*8+8.ge.nn2*3) then
write(60,200) (vk(i,j),j=1+8*(jji-1),nn2%3)
else
write(60,200) (vk(i,j),j=1+8*(jji-1),8+(jji-1)*8)
endif

200 format (10000£10.4)
end do
write(60,%)7
end do

210 continue
close(60)

[ check

(2]

c J00000000 0D0O0OD0O0O0O0O00dtest =1 OJOOO

c
cnvk : 000000000000 (1-n) n DOOOOOOOOOOO
c
c 00 file g-eval : 0OOOD (ODO)
c tasi vk 000000 O0OO
itest=0
c
c
nvk =116
c
if(itest.eq.1) then
c
open(60,file=’g-eval’,status=’unknown’)
do i=1,n
write(60,108)i, ek(i)
108 format (i4,2x,f10.3)
end do
close(60)

open(60,file=’tasi’,status=’unknown’)
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do i=1,nn2
write(60,220) i,x(i),y(i),z(i),
& vk (3*i-2,nvk) ,vk(3*i-1,nvk) ,vk(3*i,nvk)
220 format (i5,6f15.10)
end do
close(60)

end if

0000000000000 subroutin(kinsetu)

subroutine kinsetu(nn2,ndmax,ndmaxl,x,y,z,nk,ns,t,ic,rz,
&iken,ch,qa,qb,qqq,xx,qka,qkaa,dn,nss,nakc,daa)
implicit real*8(a-h,p-z)

implicit complex*16(o)

dimension x(nk),y(nk),z(nk),rz(nk,ns),qqq(nk),xx(nk),qgka(nk,ns)

dimension ic(nk,ns),iken(nk,ns),qkaa(nk,ns),dn(ndmax),nakc(nk,ns)

dimension daa(nk,ns)

dimension nss(nk)

pi=atan(1.0d0)#*4.0d0

aa=1.42d0

eps2=1.0d-6

0 n(n=1,2,3,4) 0000000 dn(n=1,2,3,4)

dn(1)=aa

dn(2)=dsqrt (3.0d0) *aa
dn(3)=2.0d0*aa
dn(4)=dsqrt (7.0d0) *aa

unit cell J0O0O0DOO0DOOO0OODO ;nan*t

nan=int (dn(ndmax1)/t)+1

tube DO0ODOOOOOOOOOOOO

do i=1,nn2

if(abs(x(i)).le.eps2) then
if(y(i).gt.-eps2) then
qqq(i)=pi/2.0d0
goto 18
else
qqq(i)=pi*3.0d0/2.0d0
goto 18
endif
endif
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c
if(abs(y(i)).le.eps2) then
if(x(i).gt.-eps2) then
qqq(i)=0.0d0
goto 18
else
qqq(i)=pi
goto 18
endif
endif
c
c
qqq(i)=atan(y(i)/x(i))
c
if(qqq(i) .le.eps2) then
if(x(i).ge.0.0d0) then
qqq(i)=qqq(i)+2.0d0*pi
goto 18
else
qqq(i)=qqq(i)+pi
goto 18
endif
endif
c
if(qqq(i) .gt.eps2) then
if(x(i).gt.0.0d0) then
qqq(i)=qqq(i)
goto 18
else
qqq(i)=qqq(i)+pi
goto 18
endif
endif
c
18 continue
if(qqq(i) .gt.2.0d0*pi) stop’qqq’
c write(*,*)qqq(i)*180/pi
end do
rr=ch/(2.0d0*pi)
open(60,file="kei’ ,status=’unknown’)
write(60,*) nn2
write(60,%)7
do i=1,nn2
write(60,12)rr¥cos(qqq(i)) ,rr*sin(qqq(i)),z(1)
12 format (’C’,3f10.5)
end do
close(60)
c
c rr;tube OO0
c
rr=ch/(2.0d0*pi)
do i=1,nn2
xx(i)=rr*qqq(i)
end do
c write (*,*)2.0*pi*rr,ch
c write(*,*)qqq(2),xx(2)
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c
c
c On O00O0DOOOOOOOODOOO
c
c
nan2=int (dn(ndmax1)/ch)+4

c
c

do 10 i=1,nn2
c k;kO00000000O0O

k=0

c
c ii:T O00o0oOoo
c

do 60 ii=1,nan

do 30 j=1,nn2
c
c

st=0.0d0

if(ii.eq.1) then

c

c iii:Ch O0OOO0ODO

c
do 123 jiii=-nan2,nan2
x1=xx(j)+float (iii)*ch-xx(i)
bi=sqrt( xi*x1 + ( z(j)-z(i) ) * ( z(j)-z(i) ) )
c
c J0000D00D00D000 (10 ndmax1) DOO0OO0O
c
c

do ijj=1,ndmaxl
dmax=dn(ijj)+0.1d0
if(ijj.eq.1) then
dmin=0.3d0
else
dmin=dn(ijj-1)+0.1d0
endif

if((bl.gt.dmin) .and.(b1.1t.dmax)) then
k=k+1
c goooooooooobooao
ic(i,k)=j
rz(i,k)=z(j)-z(i)
iken(i,k)=ijj
qka(i,k)=x1
qkaa(i,k)=xx(j)+float(iii)*ch-xx(i)
nakc(i,k)=iii
daa(i,k)=sqrt(rz(i,k)*rz(i,k)+(x(j)-x(i))**2
&+(y (§)-y(1))**2)
endif
end do
123 continue
endif
30 continue
c
c
c 00000000 oooog ;+t)
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do 40 j=1,nn2

do 124 jiii=-nan?2,nan2
x1=xx(j)+float (iii)*ch-xx(i)
z2=z(j)+float (ii)*t

b2=dsqrt (x1*x1+(z2-z(i))*(22-z(i)))

do ijj=1,ndmaxl
dmax=dn(ijj)+0.1d0
if(ijj.eq.1) then
dmin=0.3d0
else
dmin=dn(ijj-1)+0.1d0
endif

if((b2.gt.dmin) .and.(b2.1t.dmax)) then
k=k+1
ic(i,k)=j
rz(i,k)=z2-z(i)
iken(i,k)=ijj
qka(i,k)=x1
qkaa(i,k)=xx(j)+float(iii)*ch-xx(i)
nakc(i,k)=iii
daa(i,k)=dsqrt(rz(i,k)*rz(i,k)+(x(j)-x(i))**2
&+(y (§)-y(1))**2)
endif
end do
124 continue

40 continue
c O;(-%)

do 50 j=1,nn2
do 125 jiii=-nan?2,nan2
x1=xx(j)+float (iii)*ch-xx(i)
z3=z(j)-float(ii)*t
b3=sqrt (x1*x1+(z3-z(i))*(23-2(i)))

do ijj=1,ndmaxl
dmax=dn(ijj)+0.1d0
if(ijj.eq.1) then
dmin=0.3d0
else
dmin=dn(ijj-1)+0.1d0
endif

if((b3.gt.dmin) .and. (b3.1t.dmax)) then

k=k+1

ic(i,k)=j

rz(i,k)=z3-z(i)

iken(i,k)=ijj

qka(i,k)=x1

qkaa(i,k)=xx(j)+float(iii)*ch-xx(i)

nakc(i,k)=iii

daa(i,k)=dsqrt(rz(i,k)*rz(i,k)+(x(j)-x(i))**2
E+(y (3)-y (1)) *%2)

endif
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end do
125 continue
50 continue
60 continue
c
c nss(i) : i 000000 k 0000000000
c
nss(i)=k
nssmax=18
if(k.1lt.nssmax) then
write(*,*) ’nss(i)=kz’,i,nss(i)
endif
c if(k.ne.nss) stop’k-kinsetu’
10 continue
return
end
e e
c
c
c DOOOO0ODOD subruitn(Dmatrix)
c
e e
subroutine Dmatrix(nn2,o0D,a,nk,ns,nss,n,nl,rt,rz,ic,a3,ad,a2)
implicit real*8(a-h,p-z)
implicit complex*16(o)
dimension oD(nl,n),a3(nk,ns,3,3),a4(nk,ns,3,3)
dimension a(nk,ns,3,3),rz(nk,ns),ic(nk,ns),a2(nk,ns,3,3)
dimension nss(nk)
data 0i/(0.0d0,1.0d0)/
c
c
pi=4.0*atan(1.0)
c
c DOOOO
c
do 1 i=1,n1
do 2 j=1,n
oD(i,3)=(0.0d0,0.0d0)
2 continue
continue
c
c
c pm; OO ,cc; 00O
pm=12.0d0/(6.022137d0)
€c=2.9979245840
c
do 100 i=1,nn2
k=0
do 110 ii=1,nss(i)
kp=ic(i,ii)
do 5 j=1,3
do 6 jj=1,3
c

Kkj=j+(i-1)*3

Kjj=jj+(kp-1)%3

al=a(i,ii,j,jj)
oD(kj,kjj)=—exp(oi*rt*rz(i,ii))*al/(pm*0.1d0)
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& +oD(kj,kjj)
6 continue
5 continue
110 continue

100 continue

c
do 10 i=1,nn2
k=0
do 20 ii=1,nss(i)
do j=1,3
do jj=t1,3
k=k+1
al=a(i,ii,j,jj)
oD(j+(i-1)#3,jj+(i-1)*3)=0oD(j+(i-1)*3,jj+(i-1)*3)
& +al/(pm*0.1d0)
end do
end do
20 continue
c if(k.1lt .nss*9)stop’hen-Dmatrix’

10 continue

write(*,*)’ok’

return
end
=== e e e e e e e e *abs(cos(stl))————==———=——————e—u
c
c KA OKB; 00000000 subruitn(Ematrix)
c
c
= e e e o c
subroutine Kmatrix(nn2,nk,ns,ndmax,ndmaxl,a,a2,t,ch,qa,qb,
&iken,ic,qqq,rz,x,y,z,qka,qkaa,dn,nss,fr,fti,fto,nakc,a3,as
%,daa,ar,ato,ati)
implicit real*8(a-h,p-z)
implicit complex*16(o)
dimension a(nk,ns,3,3),a2(nk,ns,3,3),rz(nk,ns)
dimension qqq(nk),iken(nk,ns),ic(nk,ns),qka(nk,ns)
dimension x(nk),y(nk),z(nk),qkaa(nk,ns),dn(ndmax)
dimension fr(ndmax),fti(ndmax),fto(ndmax) ,nakc(nk,ns)
dimension a3(nk,ns,3,3),a4(nk,ns,3,3),daa(nk,ns)
dimension ar(4),ati(4),ato(4)
dimension nss(nk)
c
aa=1.42d0
pi=atan(1.0d0)#*4.0d0
eps2=1.0d-6
rr=ch/(2.0%pi)
c
c
c O n(n=1,ndmax) 0000000000
c fr;Radial, fti,fto;Tangential
fr(1)=36.5d0
fti(1)=24.5d0
fto(1)=9.82d0
c

£r(2)=8.80d0
£ti(2)=-3.23d0
fto(2)=-0.400d0
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a o o o o o o o o0

(2]

(2]

a o o o

£r(3)=3.00d0
fti(3)=-5.25d0
ft0(3)=0.15d0

fr(4)=-1.9240
fti(4)=2.2940
fto(4)=-0.58d0

x 000000 j 00000000000000000 qqq

goooooboo

st; 00000000
iken(i,ii); 00000
irst: test 0 OO

irst=0

open(60,file=’tensor’,status=’unknown’)
do 20 i=1,nn2
tr=0.0d0
do 30 ii=1,nss(i)
tr=0.0

ij=ic(i,ii)

stl=qkaa(i,ii)/ch#*2.0d0*pi

fr,fti,fto;x,y,z 0000000

do ijj=1,ndmaxl

if(iken(i,ii).eq.1jj) then

tr=dsqrt(abs(dn(ijj)*dn(ijj)-rz(i,ii)*rz(i,ii)))
if(qka(i,ii).1t.0.0d0) then

tr=-tr

endif

if(abs(tr).1lt.eps2) then
if(rz(i,ii).gt.0.0d0) then
st2=pi/2.0d0
else
st2=-pi/2.0d0
end if

else
st2=atan(rz(i,ii)/tr)
endif

st=qqq(i)
fri=fto(ijj)+fto(ijj)*(1.0d0-abs(cos(st1/2.0d0)))
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c fri=fto(ijj)*(dn(ijj)/daa(i,ii))**3.5
ftol=fti(ijj)+fti(ijj)*abs(sin(st2))
&+*(1.0d0-abs(cos(st1/2.0d0)))
c ftol=fti(ijj)*abs(sin(st2))/( abs(cos(st1/2.0d0)))
frit=fr(ijj)+
&abs (cos(st2))#fr(ijjr*
&(1.0d0-abs(cos(st1/2.0d0)))

c ftol=fti(ijj)
c ftil=fr(ijj)
c fri=fto(ijj)
endif
end do
c

cs=cos(st2)

ss=sin(st2)

a2(i,ii,1,1)=Ffri1

a2(i,ii,1,2)= 0.0d0

a2(i,ii,1,3)= 0.0d0

a2(i,ii,2,1)= 0.0d0

a2(i,ii,2,2)=ftil* cs * cs + ftol * ss * ss
a2(i,ii,2,3)=( ftil - ftol ) * ss * cs
a2(i,ii,3,1)=0.0d0
a2(i,ii,3,2)=a2(i,ii,2,3)

a2(i,ii,3,3)=ftol * cs * cs + ftil * ss * ss

all=a2(i,ii,1,1)
a22=a2(i,ii,2,2)
a23=a2(i,ii,2,3)
a33=a2(i,ii,3,3)

cs=cos(st+st1/2.0d0)
ss=sin(st+st1/2.0d0)

a(i,ii,1,1)= all*cs#*cs + a22*ss*ss
a(i,ii,1,2)= (all-a22)*cs*ss
a(i,ii,1,3)=-a23%*ss
a(i,ii,2,1)= a(i,ii,1,2)
a(i,ii,2,2)= a22*cs#*cs + all*ss*ss
a(i,ii,2,3)= a23*cs
a(i,ii,3,1)= a(i,ii,1,3)
a(i,ii,3,2)= a(i,ii,2,3)
a(i,ii,3,3)= a33

30 continue

20 continue

[ write(*,*),a(i,ii,1,1),a(i,ii,2,2),a(i,ii,3,3)
return

end
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SUBROUTINE DEIGCH(A,N,Ni,NE,NV,EPS,W,LW,E,V)
IMPLICIT REAL*8 (A-H, 0-Z)
COMPLEX#16 A,V,CR,CS,X
LOGICAL SW, LW
DIMENSION A(N1,W), E(N1), V(N1,H), W(N1,7), LW(HL)
DREAL(X)=X
DIMAG(X)=-X*(0.0DO,1.0DO)
X=X
IF(N.LE.O .0R. NE.EQ.0 ) GO TO 910
NEA=IABS (NE)
NVA=IABS (NV)
IF(N1.LT.N .OR. N.LT.NEA .OR. NEA.LT.NVA ) GO TO 920
IF(EPS.LT.0.DO) EPS=1.D-16
NMi=H-1
W2=0-2
IF(N2) 10, 20, 50
C WHEN N=1
10 E(1)=A(1,1)
IF( OV.NE.O0 ) V(1,1) = 1.0DO
GO TO 900
C WHEN m=2
C COMPUTE EIGENVALUES OF 2%2 MATRIX
20 CALL ERRSET(207,256,-1,1)
W(l,1)=A(1,1)
W(2,1)=4(2,2)
W(1,2)=CDABS(A(2,1))
A(L,1)=A(2,1)/W(1,2)
T = 0.5DO*(W(1,1)+W(2,1))
R=W(1,1)*W(2,1)-W(1,2)**2
D=T*T-R
Q=DABS (T)+DSQRT (D)
IF(T.LT.0.) Q=-Q
T=T*FLOAT (NE)
IF(T) 40, 30, 30
30 E(1)=Q
IF(NEA.EQ.2) E(2)=R/Q
GO TO 310
40 E(1)=R/Q
IF(NEA.EQ.2) E(2)=Q
GO TO 310
C WHEN N=3,4,...
C REDUCE TO TRIDIAGONAL FORM BY HOUSEHOLDER’S METHOD
50 DO 60 I=1,N
60 W(I,1)=A(I,I)
DO 190 K=1,N2
K1=K+1
$=0.
DO 70 I=Ki,N
70 S=S+DREAL(A(I,K))**2+DIMAG(A(I K))**2
SR = DSQRT(S)
T=CDABS(A(K1,K))
W(K,2)=-SR
IF(T) 90, 80, 90
80 A(K,K) = 1.0DO
GO TO 100
90 A(K,K)=A(K1,K)/T
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100

110
120

130
140

150

160

170

180
190

200

210

220

230

240
250

AODOO0ODOOOO 7T

IF(S.EQ.0.) GO TO 190

R = 1.0DO/(S+T*SR)
A(K1,K)=A(K1,K)+SR*A(K,K)
DO 140 I=K1i,N

€$=(0.,0.)
IF(I.EQ.K1) GO TO 120
IML = I-1

DO 110 J=K1,IM1
CS=CS+A(I,J)*A(J,K)
CS=CS+W(I,1)*A(I,K)
IF(I.EQ.N) GO TO 140

IP1 = I+1

DO 130 J=IP1,N
CS=CS+DCONJG(A(JT,I))*A(J,K)
A(I,I)=CS#*R

€$=(0.,0.)

DO 150 I=K1,N
CS=CS+DCONJG(A(I,K))*A(I,I)
CS = 0.5DO*R*CS

DO 160 I=K1,N
A(I,I)=A(I,I)-CS*A(I,K)

DO 170 I=K1.,N

W(I,1) = W(I,1)-2.0DO*DREAL(A(I,K)*DCONJG(A(I,I)))

IP1 = K+2
DO 180 I=IP1,N
IML = I-1

DO 180 J=K1,IMi
A(I,J)=A(I,J)-A(I,K)*DCONJG(A(T,J))-A(I,I)*DCONIG(A(T,K))
CONTINUE

W(NM1,2)=CDABS (A(N,NH1))

ACHM1,NM1)=ACH,NM1) /W(HML,2)

COMPUTE EIGENVALUES BY BISECTION METHOD

CALL ERRSET(207,256,-1,1)
R=DMAX1((DABS(W(1,1))+DABS (W(1,2))), (DABS (W(NM1,2))+DABS (W(N,1))))
DO 200 I=2,HM1

T=DABS (W(I-1,2))+DABS(W(I,1))+DABS (W(I,2))
IF(T.GT.R) R=T

CONTINUE

EPS1=R*0.1D-15

EPS2=R*EPS

DO 210 I=1,HM1

W(I,3)=W(T,2)**2

IF(NE.LT.0) R=-R

F=R

DO 220 I=1,HEA

E(I)=-R

DO 300 K=1,HEA

D=E(K)

T = 0.5D0* (D+F)

IF(DABS(D-T) .LE.EPS2 .OR. DABS(F-T).LE.EPS2 ) GO TO 300
J=0

I=1

Q=W(I,1)-T

IF(Q.GE.0.) J=J+1

IF(Q.EQ.0.) GO TO 260

I=I+1

IF(I.GT.H) GO TO 270
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CALL OVERFL(L)
Q=W(I,1)-T-W(I-1,3)/Q
CALL OVERFL(L)
IF(L.NE.1) GO TO 250
J=J+1
I=I-1
260 I=I+2
IF(I.LE.N) GO TO 240
270 IF(NE.LT.0) J=H-J
IF(J.GE.XK) GO TO 280
F=T
GO TO 230
280 D=T
M=MINO(J,NEA)
DO 290 I=K,M
290 E(I)=T
GO TO 230
300 E(K)=T
C COMPUTE EIGENVECTORS BY INVERSE ITERATION
310 CALL ERRSET(207, 10, 5,2)
IF(NV.EQ.0) GO TO 900
MM=584287
CALL ERRSET(207,256,-1,1)
DO 490 I=1,NVA
DO 320 J=1,N
W(J,3)=W(J,1)-E(I)
W(J,4)=W(J,2)
320 W(J,7) = 1.0DO
SW=.FALSE.
C REDUCE TO TRIANGULAR FORM
DO 340 J=1,NM1
IF(DABS(W(J,3)) .LT.DABS(W(J,2))) GO TO 330
IF(W(J,3).EQ.0.) W(J,3)=1.0D-30
W(J,6)=W(J,2)/W(J,3)
LW(J)=.FALSE.
W(I+1,3)=W(J+1,3)-W(J,8)*xW(J,4)
W(J,5)=0.
GO TO 340
330 W(J,6)=W(J,3)/W(J,2)
LW(J)=.TRUE.
W(J,3)=W(J,2)
T=W(J,4)
W(J,4)=W(J+1,3)
W(J,5)=W(J+1,4)
W(JI+1,3)=T-W(J,6)*xW(J,4)
W(J+1,4)=-W(J,6)*W(J,5)
340 CONTINUE
IF(W(W,3).EQ.0.) W(N,3)=1.0D-30
C BEGIN BACK SUBSTITUTION
IF(I.EQ.1 .OR. DABS(E(I)-E(I-1)).GE.EPS1) GO TO 360
C GENERATE RANDOM NUMBERS
DO 350 J=1,N
MM=MM*48828125
350 W(J,7)=FLOAT (MM)*0.4656613E-9
360 CALL OVERFL(L)
T=W(N,7)
R=W(N-1,7)
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370 W(N,7)=T/W(N,3)
W(-1,7)=(R-W(H-1,4)*W (N,7)) /W(H-1,3)
CALL OVERFL(L)

IF(L.NE.1) GO TO 390
DO 380 J=1,N2

380 W(J,7)=W(J,7)*1.0D-5
T=T*1.0D-5
R=R*1.0D-5
GO TO 370

390 IF(N.EQ.2) GO TO 440
k=112

400 T=W(K,7)

410 W(K,7)=(T-W(K,4)*W(K+1,7)-W(K,5)*W (K+2,7)) /W (K,3)
CALL OVERFL(L)

IF(L.NE.1) GO TO 430
DO 420 J=1,N

420 W(J,7)=M(J,7)*1.0D-5
T=T*1.0D-5
GO TO 410

430 K=K-1
IF(K) 440,440,400

440 IF(SW) GO TO 470
SW=.TRUE.

DO 460 J=1,HM1

IF(LW(J)) GO TO 450
W(I+L,7)=W(I+1,7)-W(T,6)*W (T, 7)
GO TO 460

450 T=W(J,7)

W(I,T)=W(I+1,7)
W(I+1,7)=T-W(J,6)*W(I+1,7)

460 CONTINUE
GO TO 360

470 DO 480 J=1,N

480 V(J,1)=W(J,7)

490 CONTINUE

C BEGIN BACK TRANSFORMATION (1)
CR = 1.0DO
DO 500 J=2,W
CR=CR*A(J-1,J-1)
DO 500 I=1,HVA

500 V(J,I)=V(J,I)*CR

C BEGIN BACK TRANSFORMATION (2)
CALL ERRSET(207, 10, 5,2)
IF(N.EQ.2) GO TOD 600
DO 590 I=1,lVA
k=112

550 CR=-A(K+1,K)*DCONJG(ACK,K))*W (K,2)
IF(DREAL(CR) .EQ.0.0 .AND. DIMAG(CR).EQ.0.0) GO TO 580
CR = 1.0DO/CR
©$=(0.,0.)

IP1 = K+1
DO 560 J=IP1,H

560 CS=CS+DCONJG(A(J,K))*V(J,I)
CR=CR*CS
DO 570 J=IP1,H

570 V(J,I)=V(J,I)-CR*A(J,K)

580 K=K-1
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IF(K.GE.1) GO TO 550
590 CONTINUE
600 CONTINUE
C NORMALIZE EIGENVECTORS
C NORMALIZE AS MAXIMUM ELEMENT=1
DO 620 I=1,NVA
T=DABS (DREAL(V(1,I)))+DABS(DIMAG(V(1,I)))
K=1
DO 610 J=2,N
R=DABS (DREAL(V(J,I)))+DABS(DIMAG(V(J,I)))
IF(T.GE.R) GO TO 610
T=R
K=J
610 CONTINUE
CR = 1.0DO/V(K,I)
DO 620 J=1,N
620 V(J,I)=V(J,I)*CR
IF(NV.LT.0) GO TO 900
C ORTHOGONALIZE AS NORM=1
DO 680 I=1,NVA
IF(I.EQ.1 .OR. DABS(E(I)-E(I-1)).GT.EPS) GO TO 650
IML = I-1
DO 640 J=M,IM1
C€S=(0.,0.)
DO 630 K=1,N
630 CS=CS+DCONJG(V(K,J))*V(K,I)
DO 640 K=1,N
640 V(K,I)=V(K,I)-CS*V(K,J)
GO TO 660
650 M=I
C NORMALIZE AS NORM=1
660 S$=0.
DO 670 J=1,N
670 S=S+DREAL(V(J,I))**2+DIMAG(V(J,I))**2
T = DSQRT(1.0DO/S)
DO 680 J=1,N
680 V(J,I)=V(J,I)*T
900 RETURN
C PRINT ERROR MESSAGE
910 WRITE(6,1000) WH,NE
GO TO 900
920 WRITE(6,1100) OV,NE,N,I1
GO TO 900

1000 FORMAT(1HO,’(SUBR. DEIGCH) N=’,I5,’ ,NE=’,I5,’ N SHOULD BE GREATER
1 THAN ZERO AND NE SHOULD BE NON-ZERO. RETURN WITH NO CALCULATION.
2 )

1100 FORMAT(1HO,’(SUBR. DEIGCH) WV=’,I5,’ NE=’,I5,’ N=’,I5,’ H1=’,I5,
1’ NV,NE,N,N1 SHOULD SATISFY THE FOLLOWING INEQUALITIES, 'NV! <= !N
2E! <= W <= N1 .’ /1H ,’RETURN WITH NO CALCULATION.’> )

END
SUBROUTINE ERRSET(I,J,K,L)
RETURN
END
SUBROUTINE OVERFL(L)
¢ L=2 means no overfl
L=2
RETURN
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END
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go:
file= houjou/for/Tube-Phonon /nanbai3.f
1.0000:
nanbai3.f 000000 displayD0’0000000O0O07 n="00000000N
O0D000000 NDOdisplayDODODOOOOOODO
2.000000 :en.xyz2(tube-xyzl £ 00 00)
3.000000:enxyz2(00000000O0O0O0ODO)

nT [J program

00 file en.xyz2  (tube-xyz1.f000)
00 file nanbai-kekka.xyz (00 file)

c en.xyz2

implicit real*8(a-h,o-z)
parameter (nk=50000)
dimension x(nk),y(nk),z(nk)

dimension iic(nk),ic(nk,3),iz(nk,3)

write(*,%)’ JO0000O000OO7? nb=’

read (*,*)nb

open(61,FILE="en.xyz2’ ,STATUS= ’0LD’)

read(61,*)nn

read(61,*)t

do 10 i=1,nn
read(61,*)j,x(i),y(1),z(1)

10 continue
read(61,*) n,m,theta
close(61)
aa=1.42d0

c open(60,FILE="en.xyz3’)

write(60,*)nn*n
write(60,124)t*n,aa
do k=1,n
do 11 i=1,nn
write(60,123)i,x(i),y(i),z(i)+t*k
124 format(£20.10,’ ’,£20.10)
123 format(i6,3f25.12)
11 continue
end do
close(60)
write(*,%)’ 00000000 = ,nb*nn
ii=nn
do 20 i=1,nn
do 21 jj=0,n-1
iij=ij+i+jj*xii
z(iii)=z(D)+(jj+1)*t

x(iii)=x(i)

(2]

a o o o

a o o o

(2]

y(iii)=y(i)
21 continue

20 continue
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100

124
700

16

750
900

op
Wr

W
do

co

Wr

oo

do

i

op

op
WY
b
i

do

en(60,FILE="en.xyz2’ ,STATUS= >0LD’)
ite(60,*)nb*nn

rite(60,124)t*nb,aa

100 i=1,nb*nn
write(60,700)1i,x(i),y(i),z(1)
ntinue

ite(60,*)n,m,theta

format (£20.10,7 ,£20.10)

format (i6,3f25.12)
close(60)

do i=1,nb*nn
iic(i)=0
do j=1,3
ic(i,j)=0
iz(i,j)=0
end do
end do
i=1,nb*nn
k=0
do j=1,n*nn
bx=x(i)-x(j)
by=y (i)-y(j)
bz=z(i)-z(j)
bb=sqrt (bx*bx+by*by+bz*bz)
£((bb.gt.0.3d0) .and. (bb.1t.1.6d0)) then
k=k+1
iic(i)=i
ic(i,k)=j
iz(i,k)=1
endif
end do
end do

en(60,FILE=’tube.near’,STATUS= ’UNKNOWN’)
do i=1,nb*nn

write(60,16)iic(i), (ic(i,il),il=1,3),(iz(i,i2),i2=1,3)
format (7i6)

end do

close(60)
en(60,FILE=’saikn-n’ ,STATUS= ’UNKNOWN’)
ite(60,*)nb*nn
rite(60,*)nb*t
4=0

900 i=1,nb*nn

ik=i4+i

write(60,750)ik,x(i),y(i),z(i)

format(’ ’,i6,3f12.5)

continue

close(60)

stop

end
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